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, 1.01x 10°Pa 0.917 x 10°kg/ m’,
1.000x 10°kg/ m”> 0. 01802kg/
: . mol, 6. 008 x 10°J/ mol
? 273. 15K; m = 60kg
, d=2x10" *m
, [=0.1m
; s S=2Id, p=F/ S= mg/2ld,
. . p=1.5%x10"Pa ,
F o= PV a (
BHHE LT AT 1 1): ,
F + mg+ Tsin0= 0,0
(4/ 3) : 1 ,
MRP g - (4/ 3) TR Pig= Tisind, P < ,
P, T 1sin 01> 0, , s (01= 02
, tan 0= tan0,= g/ a), g
P> P, , a , )
?
KT Tty Logs Ao ’
« » s l mi; D)
F + ma+ TcosB= 0 1 ma2 ,
(4/3) TRP a+ TicosOi= (4/ 3) TR Pia . :
Pi< P, Ticosbi< O,
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n T
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T= Toe Al ,
T=1272.05Kk= - 1.10C ,
-110C K«
» , To
- 4°C B ’
!
, ?
1850 :0C
, 10nm
1980
;- 20C 10nm
1996
, -2 ,
1998 HASY
X , X
19 3 ( 111 )

”

2

- 35C

,— 13C

B

. do1/ [To-T)/ To,

T d
, d
40nm, - 20 C
, 0. 5nm
!
0cC ,

454000)
. 43 .



